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1. () ~uRuSlY ALSIAL ALCHL AHY 2 A0, M AHAdl. 7

Explain relevance of time and space in context to Financial Transactions.
AUA/OR
AU 2AAL (BHA 3511 21 d, A1 A4l
Discuss Volatility (Changes in prices of securities)and it’s management.
(b)  &sHi walel 20Ul : (AL o o) 4

Answer any two in brief :
(1) weusly Alelzil e dodAl vild 24241

Discuss the concept of reward from Financial Transactions.

2) A & »iwdl 7 9l Yl e ad T 10,000/- UL 52 A el €2 10% Sl
dl del el Ul auiun- ¢l yed sed ol 2

If Ms. Anjali_deposits 10,000/~ every year for 7 years at 10% interest rate
then what would be the future value of this annuity ?

(3)  weusly WeldlAl AeclHl v Al vid dueadl.
Explain Risk Management for Financial Transactions.
(c)  SlSuBL GiAdl Us-t1 AlsUML Lol Ul 3
Answer any two in one or two sentences :
(1) Bux &2 21Rldld Yot quil.
Write an equation to calculate Yield Rate.
(2) alAdAA TS5 (Avn) vied g ?
What is Translation Risk ?
(3) 5B ugld gl1 AddlA A5 U] HUA et dLR1dL Yot vl

Write an equation to calculate future value of present cash flow by
compounding process.
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2. (a) AuHYsd e A1l A Aqslid el vad A3l

Discuss Risk free interest rate and the concept of risk adjusted interest rate.

2HYA/OR
roger -l Yl vl [@lag Rigidl Axeal.
Explain various capital structure theories of Interest rate.
(b)  &sMi walel Ul (1A d o)
Answer any two in brief :

(1) T 4,000~ Al sut o= % 1 ad ugl Ysaami 2uadR (@ d 12% -
LARS AL €3 ALEIR URAML 2L €9 dl drll AAEIRS A% ER 2RI

12% coupon bond of ¥ 4,000/- repayable after 1 year is issued with semi-
annually interest rate. Calculate Effective InterestRate (EIR) for it.

(2) e AL A YR AL AHANAL.
Explain explicit interest rate and implicit interest rate.
(3)  Guarvildl vULd AHAAl.
Discuss Yield Curve.
(c) sSuBL ol -0l ASYHL AHANAL :
Answer any two in one or two sentences :
(1) 4 S ol »ed 9.2
What is meant by Zero Coupon Bond ?
(2)  arRdlas Hxe: 2Ued g ?
What is Real Interest Rate ?
(3). drexze s ved 9 ?

What is Interest Spread ?

3. .(a) ) s Budl Rigid aHndl -
Explain the law of one price.
AUA/OR
o212 HYedisiel Rigidl Axmdl.
Explain the principles of Market Valuation.
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(b) &54l wauel 2l : (1 d o)

(©)

(b)
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Answer any two in brief :

(1

2)

&)

Al A gl »ied 9 2

What is Straight Line Method ?

siday oo URseudld Aot (dls) a3y g 9 ?
What is weak form of efficient market hypothesis ?
AleHdls A vied g ?

What is Systematic Risk ?

oM d il WAL AS5-61 ALSUHL VAL

Answer any two in one or two sentences :

(1)

2)

3)

uigsifaal s () vied 9 2

What is Portfolio Risk ?

uLsdl Yed-l Guarer-l el g ¢ 2

What is meant by Yield To Maturity (YTM) ?
w220 vied g 2

What is meant by Arbitraging ?

ol Hedis HIZA uHAAl.

Explain Binomial/Valuation Model.

A1YA/OR

3[Ryl il 2 @8Rl AHAl.

Explain méaning and characteristics of Derivatives.

gsubordlel Ul (1M d o)

Answer any two in brief :

(D

2

&)

UAEL VA WU 4Rl dslad Q.

Write the differences between futures and options.
dizvedl e g ¢ 2

What is meant by Warrants ?

els O=da lblord Yeis a1l

Explain valuation of Stock Index Arbitrage.
3
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(©)

siSut ol (a9l 2is-6l Alsyul gl L 3
Answer any two in one or two sentences :
(1) sid 2 2ied g 2
What is Call Option ?
(2) U2 22d g ?
What is meant by Rights ?
(3) alu-l e 9 9 ?
What is meant by Swaps ?

5. AlAAL UL FAleL Ul 14

Answer the following :

(1)

)

3)
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A (. HYH ol A Ml 10%-l F-L 82 245 54 U590 3 w2l o ar ugl T

N\

1,210 499, 9. dl d 254 sedl gy 2

If Mr. Masoom has received I 1,210 after investing some amount for two years

at 10% interest rate then what should be'that amount ?
(a) 1,000 (b) 1,010 (¢) X910 (d T 1,110

Al Al Hed Rl Ao 9L €9 ?

(a) PVZA[O;rru} (b) PVZA[I—(1 ii)n“}
(c) PV=A[1+(1 Jlri)n|r} (d) PV=A[Mrnm}
What is an equation to calculate present value of annuities ?

(a) PVZA[ﬂ;rru} (b) PVZA[I—(1 ii)n“}
(c) PV=A[1+(1 +i)n|r} (d) PV=A[Mrnm}

A ABER 10% 1 2 T 2,000 AsUHL UL dl Seadl ay oiHelL iy 2

(a) 7.2ad (b) 524 (c) 6ad (d 5ad

What would be the time period to double X 2,000 if interest rate is 10% ?

(a) 7.2 years (b) 5.2 years (c) 6years (d) 5 years
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(4) v versalll AL R A AH 59 YAl veldl s 2
(a) WSBasa (b) lndFasa
(c) 51622 wSBasa d)  die ASBasa
According to risk reduction strategy, total risk can be reduced by
(a) Cyclical strategy (b) Anticyclical strategy
(c) Counter-cyclical strategy (d) Postcyclical strategy
(5)  died F3-L ((HR18L G0l Rigid AqAIR AAE AR 42 5 AR
(@) -lel-l YRasl ue (b)  -ueu-l yasl a8
(c) el 1ia ag (d) -ueudl yast Raz W
According to lonable fund theory, interest rate decreases if
(a) Supply of money decreases (b) Supply of money increases
(c) Demand for money increases (d). Supply of money is constant
(6)  $UL AUALR H5d AU 9 ?
(a) ol e (b) Ml €2 @ Rad 3wl e (d) sia 1l €2
Which is the free interest rate ?
(a) Bankrate (b) Repo rate
(c) Reverse repo rate (d) Call money rate

(7) A LUl AUFER 10% 8ld 2 Fls UlHlad 2% ¢ld dl 2qglad xe:
Sedl ¢le us ?

If nominal interest rate is 10% and risk premium is 2% then the adjusted interest
rate would be

@) 12% (b) 8% ) 10% d) 2%

(8) Al s Al el YU SUA olls 3 % uisd et T 1,500 Sld A d-dl u
Aol €2 10% Sld dl d, adHid 381628 Yeu s24¢ 8l 2

If the interest rate is 10% then the current discounted value of ¥ 1,500 maturity
value zero coupon bond of 1 year period will be

(a) T1,563-64 (b) T1,463-64 (c) T1,363-64 (d) T 1,263-64
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(10)

(11)

(12)
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Y4l Hasd yeisad {dd AqaR SEadl u AU A0dR €2 % GR16R
(@ B, R,~Ry (b) B, R, +R)

() Re+ B (R, +Ry (d) Re+ B (R, —Ryp
According to Capital Assets Pricing Model (CAPM), expected return on equity
in % is equal to

@ B, R,~Ry (b B, R, +Ry

() Re+ B (R, +Ry (d) Re+ B (R, —Ryp
wUeleaol (Bud U3l st gkl (sl 2udl edl 2

(a) AWsAAn (b)) [lad wd  (¢) eH Bya (d)o vl g
Arbitraging pricing theory was developed by

(a) Stephen Ross (b) William Sharpe

(c) Adam Smith (d) John Stuart

AL AU [BHd 52l d-dl asR oo Bod sald © %

(a) Auldd e-dailar glrl Auld-dl sidam Gualel 24l €9 dd e

(b) AUl A9l Gualol Ul €.

(c) Su-l-l elad eRieR el

(d)  Gunidl siduel A&l

If market value of share'is greater than it’s book value then it represents.
(a) Efficient use of assets reflected by asset turnovers.

(b) Poor use of assets

(c) The company is not in good condition.

(d) None of above

e 2l 22158 wUsl uRRalaul ol 9l s 9 Bul

(a) ol 2le [RaR

(b) 6l e uladqslla .

(©) s e RUR 9 2 ol uladAalla «o.

(d) <Guz-uMidl 519 Ale.

Interest rate swaps is a contract between the cash flow situation in which
(a) Dboth interest rates are fixed

(b) both interest rates are floating

(c) one interest rate is fixed and another is floating

(d) none of above



(13)

(14)
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D2 Y oR16R

o122 [Fud — 2152 [Bud
@) I_R

o122 [Ud — 252 [Bud
(C) 1 -R2

Value of right is equal to
Market Price — Offer Price

@) I-R
Market Price — Offer Price

(C) 1-— R2

Al 59 3Rl wan o.

(a) dl3e
(c) Sl

(b)

(d)

(b)

(d)

(b)
(d)

o122 [5Hd + 2152 [BuHd

1+R
o122 [Ud — 252 [Bud

I +R

Market Price + Offer Price

1+R
Market Price — Offer Price

1+R

AlElE3e vis duidile
SHBHAE YuR

Which of the following is a derivative instrument.?

(a) Warrant

(c) Equity

(b)
(d)

Certificate of deposit

Commercial paper






